Akersberga BS
Berit 2022-10-13

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 3 151 62.92  Kjell S6derlund - Krister Grufman 11466 11013  Akersberga BS
2 8 143 59.58 Roger Jaderberg - Sten Frykholm 54330 62363  Akersberga BS
3 9 132 55.00  Sven Alenius - Sven Mellgvist 54714 50225  Akersberga BS
4 12 131 5458  Lena Bjon-Aaltonen - Gunilla Ostervall 2602 9131 Akersberga BS
5 2 128 53.33 Ove Jansson - Inga Nyberg 9090 33178  Akersberga BS
5 5 128 53.33  Margaretha Grufman - Monica Séderlund 49938 79676  Akersberga BS
7 1 123 51.25  Ann Varcoe - George Varcoe 62266 62267  Akersberga BS
8 10 121 50.42  Yngve Frolander - Hans Ohrling 14452 25090 Akersberga BS
9 11 106 44.17  Jan Holm - Bertil Blomqvist 54966 52968  Akersberga BS
10 4 105 43.75  Ingrid Molin - Roland Johansson 62268 62308  Akersberga BS
11 6 90 37.50 Clas Hero - Solveig Hero 57611 57610  Akersberga BS
12 7 82 34.17  Britt Edlund - Karl Kedland 10455 62396  Akersberga BS
1 4 K62 Basta kontrakt 2 410643 Basta kontrakt 3 4 K97 Basta kontrakt
Nord v EK1073 6NT N =990 Ost vK5 ANT S =630 Syd v K7432 3v SD-1-100
Ingen +98 NS + K96 ov + 108
#EKKn & ¢ v & NT #7652 & ¢ v & NT +D64 & ¢ v & NT
« 10874 4 D953 N 9 119 8 12| D85 4 Kn972 N 9 8 109 10 453 4 D10642 N7 4857
v8 v DKn954 S 9 119 8 12 v 94 v 10872 S 9 8 109 10 v D85 vE6 S7 4857
+ D2 ¢+ K64 031441 ¢+ EKn10853 ¢4 O4 4343 ¢ Kn643 ¢ EKD5 06 9476
21098742 #3 V31441 *84 «KD103 V34343 #E875 4109 V694786
& EKn 4 EK & EKn8
v 62 v EDKn63 v Kn109
¢ EKn10753 ¢+ D72 972
»D65 #EKn9 #KKn32
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 11 3NN+3 43 490 90 10| 8 6 3NN+2 3 660 100 00| 8 6 3NV-2 v2 200 10.0 0.0
7 12 3NN+3 43 490 90 10| 2 11 3NS+1 ¢T 630 70 30| 2 11 2v S+1 ¢A 140 8.0 20
8 6 3NN+2 v4 460 50 50|10 5 3NS+1 +J 630 70 30|10 5 2¢0-1 vJ 100 6.0 4.0
10 5 3NN+2 43 460 50 50| 7 12 3NS= +3 600 40 60| 7 12 14 0= *2 -80 40 6.0
4 3 3NS+1 9 430 20 80| 4 3 4vS-1 *8 -100 20 80| 9 1 2¢0-= 3 -90 20 8.0
9 1 3NN-1 43 -50 0.0 100| 9 1 6NS-2 ¢ A -200 0.0 100| 4 3 14 0+1 *2 -110 0.0 10.0
4 4« Kn1076 Bésta kontrakt 5 & E32 Bésta kontrakt 6 & K76432 Bésta kontrakt
Vast vE2 5v V =-650 Nord v2 4¢ N =130 Ost v D52 44 S =420
Alla + K4 NS + KKn1052 ov ¢+ E75
#KKn1062 & ¢ v & NT *ED64 & ¢ v & NT 3 & ¢ v & NT
& EK43 48 N5416 4 4 K874 4 DKn9 N 7 105 7 8 D105 o E N 8 3 6 105
vDKn754 vK1096 S5416 4 vED963 vKn85 S 7 105 7 8 vKn3 v K8764 S 8 3 6 105
¢ Kn7 ¢+ ED962 07 9 117 8 +D 4843 053755 ¢+ DKn1032 ¢ K864 059737
*E9 #875 V79 117 8 #KKn5 #9872 V537675 #E96 «D104 V49737
& D952 41065 4~ Kn98
v 83 vK1074 vE109
¢ 10853 +E976 +9
«D43 «103 #KKn8752
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 7 2vV+4 46 -230 100 0.0| 9 2 4¢ N= vJ 130 100 00| 3 11 34 N+1 ¢6 170 10.0 0.0
3 11 4v V= aT -620 6.0 40| 1 7 3¢ N= vJ 110 80 20|10 6 34 N= ¢+K 140 80 20
5 4 4v V= *K -620 6.0 40| 3 11 34V-2 v2 100 50 50| 9 2 4e¢ V- «3 100 6.0 4.0
10 6 4v V= *2 -620 6.0 40| 8 12 4v V-2 A 100 50 50| 5 4 34N-1 +K -50 30 7.0
8 12 4v V+1 &T -650 10 90| 5 4 3¢ N-1 vJ -100 10 9.0| 8 12 44 N- *4 -50 30 7.0
9 2 4vV+l *2 -650 10 90|10 6 4¢ N-1 4Q -100 10 90| 1 7 4eV-= 3 -130 0.0 10.0
7 & KKn95 Bésta kontrakt 8 4 D94 Bésta kontrakt 9  KKn84 Bésta kontrakt
Syd v Kn8 3¢ S =110 Vast v EK10 44 N =420 Nord v K1092 6¢ N D -4-800
Alla ¢+ D752 Ingen 49632 ov + DKn854
*K82 & ¢ v & NT «D62 & ¢ v & NT *- & ¢ v & NT
48432 4D76 N49 766 « E82 465 N 6 107 108 |42 « ED105 NO8570
v5 v EK976 S49565 v 85 vKn96432 S 6 106 106 | vD87 v EKn5 S08570
¢+K964  ¢- 094677 +75 +1084 0726 33 |+10 4632 O 125 7 6 8
#Kn976 #ED1054 V94677 &#EKN9743 K8 V 7 2 6 3 3 |[#EKKN96542 #D103 V 125 7 6 8
4 E10 4 KKn1073 49763
vD10432 vD7 v 643
+ EKn1083 ¢ EKDKn + EK97
3 105 »87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 8 3vyxDO-1 4A 200 100 00| 9 3 44 S+1 ¢7 450 100 00|11 4 5#V-1 +Q 100 10.0 0.0
10 7 2NN= vA 120 80 20| 1 12 44 S= v8 420 50 50|10 7 44S-3 *T -150 8.0 20
1 12 3¢ S= v5 110 6.0 40| 2 8 44 S= A 420 50 50| 9 3 3#V+3 *4 -170 6.0 4.0
9 3 440-1 A 100 40 6.0(10 7 44 S= A 420 50 50| 1 12 34RDS-1 #A -200 40 6.0
6 5 3¢N-1 »6 -100 10 9.0|11 4 44 S= ¢5 420 50 50| 2 8 5¢DN-3 vA -500 20 8.0
11 4 2vS-1 *4 -100 10 90| 6 5 3NN= v4 400 00 100| 6 5 5#V+1 a4 -620 0.0 10.0

Akersberga BS, Berit 2022-10-13, sida 1 av 3




10 & KKn6 Basta kontrakt 11 4« KD87 Basta kontrakt 12 4653 Basta kontrakt
Ost vKD102 34 S =140 Syd v K8 5NT S =460 Vast v E83 2v N =110
Alla 410842 Ingen + Kn1062 NS + EKn10
*75 & ¢ v & NT #1074 & ¢ v & NT #7654 & ¢ v & NT
484 4953 N7 67 96 41096532 o- N 8 10101111 D74  #EKn10 N66 877
vE875 v964 S76796 v 742 vKn1065 S 8 9 101111 vD97 v1065 S66877
+ KDKn5 4976 O6 7 44 4 +D74 + K83 052322 ¢+K86 #9532 O7 6556
#D83 #EK104 V67444 »5 #KD9632 v52321 #EK32 #DKn8 V76556
4 ED1072 & EKn4 & K982
v Kn3 vED93 v KKn42
¢ E3 ¢ E95 +D74
#Kn962 #EKn8 #109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 6 44 S= vA 620 100 00| 3 1 3NN+3 vJ 490 100 00| 9 4 3NO-1 v2 50 70 3.0
12 2 24 S+2 +K 170 80 20| 9 4 3NS+1 42 430 6.0 40|10 8 INV-1 *7 50 70 3.0
3 1 34S= vA 140 50 50|11 5 3NN+1 45 430 6.0 40|11 5 2#V-1 v3 50 70 3.0
10 8 14 S+2 +K 140 50 5012 2 3NS+1 T 430 6.0 40|12 2 INV-1 v3 50 70 3.0
11 5 INN= *4 90 20 80| 7 6 3NS= 42 400 10 90| 3 1 INV= v3 -90 20 8.0
9 4 34S-1 v5 -100 0.0 100({10 8 3NS= T 400 10 90| 7 6 INO+1 v2 -120 0.0 10.0
13 4~ E8 Basta kontrakt 14 4 EKKn4 Basta kontrakt 15 » EK654 Basta kontrakt
Nord v 6542 34 O =-140 Ost v D84 ANT S =430 Syd v5 ANT S =630
Alla ¢ E73 Ingen + EK NS + Kn75
#D752 & ¢ v & NT #10864 & ¢ v & NT #KD103 & ¢ v & NT
4762 4KDKn953 N 7 8 8 4 5 410952 4876 N 9 9 109 10 4DKnl10 498 N 108 9 109
vED3 v 108 S 68845 v76 vE92 S 9 9 109 10 v76 vEKn9842 S 108 9 1010
4652 ¢ DKn4 06 55 9 8 + 984 ¢ D632 044243 + KD964 ¢ 102 025423
#Kn863 #E9 V65598 #9532 &EK7 V44243 *764 #852 V25423
4104 4 D3 4732
v KKn97 v KKn1053 vKD103
+ K1098 + Kn1075 + E83
«K104 #DKn #EKnN9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 2 24 0+1 *4 -140 70 30| 8 7 4vS= a2 420 80 20|12 3 44 S+l 4T 650 10.0 0.0
8 7 24 0+1 *4 -140 70 30| 9 5 4vS= ¢4 420 80 20| 8 7 3NS+1 ¢4 630 8.0 20
9 5 14 O+2 v7 -140 70 30|11 6 4v S= A 420 80 20| 1 10 44 N= T 620 50 5.0
12 3 24 O+1 *T -140 70 30|12 3 INO-4 v3 200 40 60 9 5 44 N= ¢+T 620 50 5.0
1 10 14 O+3 v7 -170 10 90| 1 10 3v S+l +9 170 20 80|11 6 3NS= +9 600 20 8.0
11 6 14 O+3 +9 -170 10 90| 4 2 34N= A 140 0.0 100| 4 2 3NS-1 + K -100 0.0 10.0
16  EKKn9 Bésta kontrakt 17 4 E103 Bésta kontrakt 18 » EK83 Bésta kontrakt
Vast v3 34 ND-1-100 Nord v E10943 4¢ O =-130 Ost v KKn8 3¢ OD-1100
ov + DKn6 Ingen + Kn4 NS + K10
#EDKn74 & ¢ v & NT #1085 & ¢ v & NT #EKN72 & ¢ v & NT
48753 410 N8 7 485 a74 4« KD98 N3 3653 410942 D5 N858 88
vDKn4 vEK10985 S 8 7 4 8 5 v 872 v K6 S33653 vE9 v 10432 S 858 88
¢E84 ¢ K92 056 958 + K98762 ¢ D53 O 8 107 8 7 ¢ EKn743 ¢ D96 0485565
#1053 #K96 V56958 #KKn &#ED74 vV 8 107 8 7 &D5 »K864 V58555
4 D642 4 Kn652 4 Kn76
v 762 v DKn5 v D765
410753 + E10 4 852
*82 #9632 #1093
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
9 6 24 N= vA 110 100 00| 9 6 5¢V-1 vA 50 10.0 00|12 4 24 N+1 &4 140 10.0 0.0
2 10 44 N-2 vK -100 70 3.0| 2 10 INO= vQ -90 80 20| 9 6 1a N+1 «4 110 80 20
12 4 34 N-2 vA -100 70 30| 5 3 2NO+3 vQ -210 6.0 40| 2 10 INN= +6 90 6.0 4.0
7 11 29y O= a2 -110 40 60| 7 11 3NO= a2 -400 30 70| 1 8 3¢V-1 & K 50 40 6.0
1 8 3vy 0= *8 -140 10 90|12 4 3NO= &2 -400 30 70 5 3 2#S-1 vA -100 20 80
5 3 3v0= a4 -140 10 90| 1 8 3NO+1 a2 -430 0.0 100| 7 11 3NS-4 *4 -400 0.0 10.0
19 4 Kn8 Bésta kontrakt 20 4 Kn94 Bésta kontrakt 21 48 Bésta kontrakt
Syd v KKn976 2%V =-90 Vast v 743 5NT V =-660 Nord v DKn10 3NT N =600
oV + K103 Alla ¢ DKn NS + KKn9
#Kn107 & ¢ v & NT #EK632 & ¢ v & NT #EDKnN965 & ¢ v & NT
4ES32 464 N47 6765 48 «EKD107653N 5 6 3 0 O 4 Kn63 «ED54 N 107 9 8 9
v D54 vE108 S476765 v EK10652 v8 S56300 v9732 v54 S 107 9 8 9
+9 ¢ 76542 0866 47 ¢ E87 + K6 08 6 9 1111 ¢+ E652 ¢ 10873 036 353
#KD963 #E85 V86747 D104 &75 vV 8 7 101111 107 #K84 V36 353
« KD1097 a2 & K10972
v 32 v DKn9 v EK86
+ EDKn8 41095432 +D4
*42 #Kno8 »32
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 10 24 S-1 +9 -50 90 10| 3 10 44 O+1 *9 -650 80 20| 3 10 3NN+2 +3 660 10.0 0.0
8 11 3NN-1 *4 -50 9.0 10| 8 11 44 O+1 &J -650 80 20| 9 7 4v S+1 +A 650 80 20
12 5 38 V= ] -110 6.0 40| 9 7 44 0+1 *9 -650 80 20| 2 1 3NN= «4 600 6.0 4.0
2 1 44 S-3 &K -150 30 70| 2 1 44 O+2 *J -680 20 80|12 5 3&#N+2 +7 150 40 6.0
6 4 3NN-3 A -150 30 7.0| 6 4 44 O+2 +9 -680 20 80| 6 4 2v S+l +5 140 20 80
9 7 3NN-4 *7 -200 0.0 100|12 5 44 O+2 »8 -680 20 80| 8 11 3NN-1 a4 -100 0.0 10.0
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4 Kn876 Basta kontrakt 485 Basta kontrakt 4 D52 Basta kontrakt
vD 44 S =130 v D642 3v V =-140 v 743 24 V =-110
+ Kn108753 ¢+ E542 Ingen 7
&97 & ¢ v &N &654 & ¢ v &N &#EK10542 L Y
4 ED9432 &K5 N 104 9 4 7 «D2 & K4 N5 3 383 4 EK108 4943 N7 6 55
v- v 987643 S 104 9 4 7 vK9875 vEKn10 S52383 vKnl052 vEK6 S7655
¢ ED42 + K96 028292 +108 ¢+ KDKn763 O 8 109 5 6 +102 + EKn983 O6 7 838
#1042 &63 V282292 &#EKNn92 4103 V 8 109 5 6 &Kn76 D9 V67 88
410 & EKn109763 & Kn76
v EKKn1052 v3 v D98
¢- +9 + KD654
&#EKDKnN85 &KD87 83
Par Kontr Ut Res Poang Kontr Ut Res Poang Par Kontr Ut Res Poang
6 12 2vDO-3 &A 800 100 00| 3 2 5vDV-1 48 200 100 0.0 9 8 24 N= vA 90 10.0
4 10 54 S= ¢A 400 80 20| 6 12 24 S+1 &2 140 80 20| 1 11 2vV-1 7 50 7.0
1 11 34 V-1 vQ 100 6.0 40| 9 8 24S= v5 110 6.0 40| 3 2 24V-1 &A 50 7.0
3 2 5¢vS-3 s A -150 30 70| 1 11 3¢ 0+1 aA -130 40 60| 6 12 INO= 46 -90 4.0
7 5 4v S-3 s A -150 30 7.0| 4 10 44DS-1 v5 -200 20 80| 7 5 INO+1 v8 -120 2.0
9 8 4vRDS-2 «A -600 00 100| 7 5 4v V= 48 -620 0.0 10.0| 4 10 INO+2 *4 -150 00 1
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